
Odd One Out 
 

Estimating 

 
Estimate the answer to each calculation by rounding to one significant figure. 

Colour in the odd one out on each row. 

 

 

12 × 54 121 + 458 
5.1 × 1210

9.8
 

4.8 × 12.3 28.3 × 1.87 
643

9.65
 

(9.8)2 
28 × 5.6

2.1
 48.55 × 2.05 

56 + 108

4.32
 10.32 × 3.9 29.8 + 22.7 

3.9 × 3.2

6.1
 5.23 − 2.79 

21 × 9.8

11.6
 

123 + 78.9 
56 × 23

6.21
 49 × 4.18 

19 × 1.23 25 × 1.78 
10.3 × 38

19.2
 

2.5 × 4.36 
82.3

28.9 − 17.9
 2.1 × 1.1 × 3.9 

9.8 × (10.1)2 53 × 19.6 33 × 38.9 

1.21 × 5.3

0.97
 2.34 × 3.1 7.83 − 2.76 

 


